Qty.

MATERIAL:

DRAWN:

@ =DWCI

E-MAIL: ALEX@3DIWELL.COM

SCALE:'I/'/DW[_‘, NO.

MF kinematlics FBGS5 V2.0

\?EVISIDN: 2.0 \SHEET 10F 7



Qty.

MATERIAL:

DRAWN:

@ =DNCI

E-MAIL: ALEX@3DIWELL.COM

SCALE:'I/'/DW[_‘, NO.

MF kinematlics FBGS5 V2.0

\?EVISIDN: 2.0 \SHEET 2 OF 7



Qty.

MATERIAL:

DRAWN:

@ =DWCI

E-MAIL: ALEX@3DIWELL.COM

SCALE:'I/'/DW[_‘, NO.

MF kinematlics FBGS5 V2.0

\?EVISIDN: 2.0 \SHEET 3 OF 7



Qty.

MATERIAL:

DRAWN:

@ =DWCI

E-MAIL: ALEX@3DIWELL.COM

SCALE:'I/'/DW[_‘, NO.

MF kinematlics FBGS5 V2.0

\?EVISIDN: 2.0 \SHEET 4 0F 7



L.COM

E-MAIL: ALEX@3DIWEL

& =DWell




=

SCALE:'I/'/DW[_‘, NO.

{ need to remove before install )

MATERIAL:

DRAWN:

@ =DNCI

E-MAIL: ALEX@3DIWELL.COM

MF kinematics FBGS V2.0 \?EVISIDN: 2.0 \SHEET 6 OF 7



///--Additional components needed to buy--/// Qty

Pulley GT2 20T W6 B4 (18x8.5x12)

Flange Bearing F623zz (3x10x4)

Belt GT2 6mm (Length 1280mm-+)

Brass Inserts M3 (D4.6 x L5.7)

Hex Socket Screw M3 x5mm

Hex Socket Screw M3 x10mm

Hex Socket Screw M3 x15mm

Hex Socket Screw M3 x16mm

Hex Socket Screw M3 x30mm

Shaft D2mm x L15mm

Shaft D3mm x L15mm

Shaft D4mm x L1émm

Shaft D4mm x L20mm

Shaft D4mm x L25mm

Cone Point Hex Socket Screw M3x8mm

4
4
1
32
14
12
11
2
2
2
2
2
1
3
2
Qty.
MATERIAL:
DRAWN:

@ =DNCI

E-MAIL: ALEX@3DIWELL.COM

5CALE:1/1/DWG NO. MF kinematics FBGS V2.0

\?EVISIDN: 2.0 \SHEET 7 OF 7



	1
	Drawing View1

	2
	Drawing View6

	3
	Drawing View8

	4
	Drawing View10

	5
	Drawing View4

	6
	7
	Drawing View12


